MTTC Chemistry Review Test  7:  Bonding I

Name.

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) Of the following,


A)O

cannot accommodate more than an octet of electrons.

B) P

C) I

D) As

E)S

2) Which two bonds are most similar in polarity?

A) I-Br and Si-Cl

B) B-F and CI-F

C) AI-CI and I-Br

D) O-F and CI-F

E) CI-CI and Be-CI

3) Of the bonds below,


A) Na-CI

is the least polar.

B) C-F
C) Si-Cl

D) Na-S

E) P-S

Consider the following species when answering the questions that follow:

(i) PCl3
(ii) CH2Cl2
(iii) HCN

(iv) C2H4
(v) NH3
4) In which Lewis structure does the central atom have a non-zero formal charge?


A) (i)
B) (ii)
C) (iii)
D) (v)

E) none

5) Of the ions below, only


A)S3- 

B)K​

has a noble gas electron configuration.


C) CI-
D) 02+
E) I+
6) Bond enthalpy is

A) always positive

B) always negative

C) always zero

D) sometimes positive, sometimes negative 

E) unpredictable

7) The central atom in


A) CF4

does not violate the octet rule.

B) ICl4-
C) XeF4
D) SF4
E) KrF2
8) Which of the following would have to lose two electrons in order to achieve a noble gas electron configuration?

O

Sr

Na

Se

Br

A) Br

B) Na

C) 0, Se

D) Sr

E) Sr, 0, Se

9) The type of compound that is most likely to contain a covalent bond is


A) one that is composed of only nonmetals


B) one that is composed of a metal from the far left of the periodic table and a nonmetal from the far right of

the periodic table

C) a solid metal

D) held together by the electrostatic forces between oppositely charged ions

E) There is no general rule to predict covalency in bonds.

B) 5i

is the least electronegative.


C) CI

D) F

E) Ca

10) Of the atoms below,


A)Rb

11) Which of the following has the bonds correctly arranged in order of increasing polarity?

A) N-F, Be-F, Mg-F, O-F 

B) Mg-F, Be-F, N-F, O-F 

C) O-F, N-F, Be-F, Mg-F 

D) Be-F, Mg-F, N-F, O-F 

E) O-F, Be-F, Mg-F, N-F

12) A valid Lewis structure of


A) SbF3
B) S042-​

cannot be drawn without violating the octet rule.


C) IF3
D) PF3
E) NF3
13) How many equivalent resonance forms can be drawn for 502 without expanding octet on the sulfur atom


(sulfur is the central atom)?

A 3

B)4

C) 1

D) 2

E) 0

14) A nonpolar bond will form between two

A) identical, different

B) similar, different

C) identical, equal

D) different, different

E) different, opposite

atoms of

electronegativity.

15) Of the molecules below, the bond in


A) H2
B) HCI

is the most polar. C) HBr

D)HF

E) HI

16) Based on the octet rule, phosphorus most likely forms a


A) P+
B) P3-
C) P5+
lOn.

D) P5-​

E)P3+
17) How many resonance forms can be drawn for C032-- (carbon is the central atom)?

A) 4

B)1

C)O

D) 2

E)3

18) A valid Lewis structure of


A) CF4
B) BeH2
cannot be drawn without violating the octet rule.


C) NF3
D) S02
E) S032-​

Answer Key
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MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) A 

2) D

3) E 4) E 5) C

6) A 7) A 8)  D

9) A

10) A

11) C 12) C 13) 0 14) C 15) D

16) B 17) E 18) B

